
 1 

 
 
 
 
 
 

CLASS – XII 
 

SAMPLE QUESTIONS 
 

SUBJECT : 
 

PSYCHOLOGY 
 

 
 
 
 
 
 

UNIT - I 
 
 
 
 
 
 
 
 
 
 
 



 2 

 
C.O :  2 
M.P :  4, 7 
 
QT   : Suppose you are heading to your school to write your exam.  
Due to a bus strike you are held up.  But some how you managed to write the 
exam.  You were acting on a theory of intelligence proposed by J.P. Das and 
others to over come this difficult situation.  
 
 Name the theory and its different components by analysing the 
situation given above.  
 

Score : 4 
Time  :  8 mts.  

Scoring Indicators  : 
 
 Naming the theory   : 1 
 Naming the components  : 2 
 Analysing the given situation 
 based on the theory  : 1 
 

hm¿jnI ]co£m Zn\-Øn¬ A{]-Xo-£n-X-am-bp-- mb _�v kacw 

\nanØw \nßƒ°p ka-b-Øn\p ]co-£-bvs°-Øn-t®-cp-hm≥ km[n-°mØ Hcp 

ÿnXn-hn-tijw kwPm-X-ambn F∂p k¶¬∏n-°p-I.  F∂m¬ Ah-k-tcm-Nn-X-

amb {]hr-Øn-sIm- v IrXy-k-a-bØp Xs∂ ]co£ lmfn¬ FØn-t®-cp-hm≥ 

\nßƒ°p km[n-®p.  

 

 \nß-fpsS Cu {]hr-Ønsb J.P. Zmkns‚ _u≤nI kn≤m¥w GsX∂p 

Is- -Øn hni-Zo-I-cn-°p-I. 

 

C.O :  3 
M.P :  1, 7 
 
QT   : "Integral Intelligence" is the Indian view of Intelligence.  
Mahatma Gandhi is a typical example for a person with Integral Intelligence.  
According to the Indian view of Intelligence he holds the four competencies.  
List them and explain with reference to his life style.  
 

Score : 4 
Time  :  8 mts.  

Scoring Indicators  : 
 
 What is integral intelligence    : 1 
 
 Naming four competencies   : 2 
 Explaining each competencies with  
 
 reference to the life style of Gandhi  : 1 
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"Integral Intelligence" F∂-Xp- _p≤n-sb-°p-dn-®p≈ `mc-Xob Z¿i-\-

Øns‚ Bhn-jv°m-c-am-Wv.  alm-flm-Km‘n AXn-s\m-cp-Øa DZm-lc-W-am-Wv.  

At±-l-Øns‚ PohnX ssien hne-bn-cpØn Integral Intelligence s‚ hnhn[ 

LS-I-ßƒ ka¿∞n-°p-I. 

 

C.O : 4 
M.P :  4 
 
QT   : The following are some short forms of Intelligence tests.  
 
 (1) WAIS 
 (2) WISC 
 (3) WPPSI 
  
 These tests are used for different age groups.  Identify. 
 

Score : 3 
Time  :  5 mts.  

Scoring Indicators  : 
 
 Adult      : 1 
 Children    : 2 
 Pre school & Primary  : 1 
 

Nne kw£n]vX cq]-ßƒ Xmsg sImSp-Øn-cn-°p-∂Xp {i≤n-°p-I. 

 

(1) WAIS 
 (2) WISC 
 (3) WPPSI 
  

 apI-fn¬ sImSp-Øn-´p≈ Intelligence test Iƒ hyXykvX {]mb-]-cn-[n-

bn¬s∏ -́hsc Dt±-in-®n-´p-≈-h-bm-Wv.  Ah Hmtcm∂pw GXp {]mb-]-cn-[m-°msc 

Dt±-in-®n-´p-≈-h-bm-sW∂p Is- -Øp-I. 

 

C.O : 5 
M.P :  4 
 
QT   : Choose from the following the IQ which indicate the mentally 
challenged.  
  
 a. below 90 
 b. below 70 
 c. 70 – 79 
 d. below 80 
  

Score : 1 
Time  :  2 mts.  
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Scoring Indicator  : 
 
 Below 70   : 1 
  

Xmsg-s°m-Sp-Øn-cn-bv°p-∂-h-bn¬ \n∂pw _p≤n-am-µy-ap≈ Hcp 

hy‡nbpsS IQ Score G-sX∂p Is- -Øp-I. 

 

a. 90 – ¬ Xmsg 
b. 70 - ¬ Xmsg 
c. 70 – 79 CSbv°v  
d. 80 - ¬ Xmsg 

 
C.O : 4 
M.P :  4 
 
QT   : Cheeran is an adivasi youth.  "Moopan" says that he is having 
(moola) Budhi.  Can you suggest a test which can measure his Intelligence.  
But mind that he is illiterate.  
         Score : 1 

Time  :  2 mts.  
 

Scoring Indicator  : 
 
 Non Verbal Test / RPM : 1 
  

Noc≥ Hcp BZn-hmkn bphm-hm-Wv.  Im´nse aq∏s‚ A`n-{]mb {]Imcw 

Abmƒ hfsc _p≤n-am-\m-Wv.  F¶n¬ Nocs‚ _p≤n-b-f-°m≥ ]cym-]vX-amb 

Hcp Intelligence test \n¿t±-in-°p-I.  ]s£ Abm-sfmcp \nc-£-c-\m-sW∂ 

Imcyw {]tXyIw {i≤n-°p-I.  

 

 

 

C.O : 5 
M.P :  6 
 
QT   : Rakhi a 12 years old girl is unable to manage her every day 
activities like others of her age group.  The main areas of difficulties are self 
help skills, speech and academics.  Identify and explain the condition of Rakhi 
and its causes.  
         Score : 6 

Time  :  15 mts.  
 

Scoring Indicator  : 
 
 Mentally challenged   : 1 
 Explaining mentally Challenged  : 3 
 Causes of mentally challenged  : 2 
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12 hb-�p≈ Hcp s]¨Ip-´n-bmWv cmJn.  F∂m¬ Ahƒ°v Xs‚ 

{]mb-Øn-\-\p-k-cn®v a‰p-≈-h-cp-ambn CS-]-g-Im\pw ]T\ {]h¿Ø-\-ßfn¬ 

{i≤n-°m-\pw, F¥n-\-[nIw kz¥w Imcy-ßƒ sNøp-∂-Xn\pt]mepw km[n-°p-

∂n-√.  cmJn-bpsS Cu Ahÿ Is- Øn \n¿h-Nn-°p-I-bpw, Imc-W-ßƒ 

Is- Øn hni-Z-am-°pI? 

 

 

C.O : 7 
M.P :  1, 6 
 
QT   : Military recruitment board use different types of tests to select 
suitable candidates.  Suppose you are appointed as recruitment officer.  
Which type of test do you suggest to select the personnels.  Justify? 
 
         Score : 3 

Time  :  5 mts.  
 

Scoring Indicator  : 
 
 Aptitude Test  : 1 
 Identify as ASVAB : ½  
 Explaining   : 1½  
  

ssk\nI tkh\w \S-Øp-∂-h¿°v Nne {]tXyI Ign-hp-Iƒ Bh-iy-

amWv ! ssk\y-Øn-ep≈ Bfp-Isf Xnc-s™-Sp-°m≥ ]e Xc-Øn-ep≈ sSÃp-

Iƒ D]-tbm-Kn-°m-dp-- v.  CØcw Bƒ°msc sXsc-s™-Sp-°p-hm-\p≈ Npa-

Xe \nß-fn¬ \n£n-]vX-am-bn-cn-°ps∂∂p Icp-XpI?  F¶n¬ C°q-´sc Xnc-

s™-Sp-°p-∂-Xn\v \nßƒ GsX√mw Xc-Øn-ep≈ sSÃp-I-fmWv D]-tbm-Kn-°p-

I-sb∂v Is- Øn hni-Zo-I-cn-°pI? 

 

 

C.O : 7 
M.P :  1, 3 
 
QT   : Piek the odd one out. 
 
 a. DAT 
 b. GATB 
 c. ASVAB 
 d. WISC 
         Score : 1 

Time  :  2 mts.  
 

Scoring Indicator  : 
 
 WISC  
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Xmsgs°mSp-Øn-cn-°p-∂-h-bn¬ \n∂pw Iq -́Øn¬s∏Sm-Ø-sX-Sp-sØ-gp-XpI? 

 

a. DAT 
 b. GATB 
 c. ASVAB 
 d. WISC 
 

C.O : 2 
M.P :  1, 5 
 
QT   : I proposed a theory of Intelligence.  This theory is based on the 
following principles.  
  
 1. It is not a single entity 
 2. These are independent of each other  
 3. They interact with each other 
 
Who am I ? 
Name the theory. 
         Score : 2 

Time  :  4 mts.  
 

Scoring Indicator  : 
 
 Howard Gardner    : 1 
 Multiple Intelligence theory  : 1 
  

_p≤n-sb-°p-dn-®p≈ Hcp kn≤m¥w Rm\m-hn-jv°-cn-®n-´p-- v.  AXn-s\-°p-dn-

®p≈ Nne Bi-b-ßƒ Xmsg hnh-cn-°p-∂p.  

 

 1. Fs‚ kn≤m-¥-{]-Imcw _p≤n-sb-∂Xv GI-I-a-√. 

 2. _p≤n-bpsS Hmtcm LSI-ßfpw hyXy-kvX-am-Wv. 

 3. F∂m¬ Cu LS-I-ßƒ ]c-kv]cw CS-]-gIn {]h¿Øn-°p-∂p.  

  

 F¶n¬ Rm\mcv? Fs‚ kn≤m-¥-Øns‚ t]sc¥v? 

 

 

C.O : 10 
M.P :  4 
 
QT   : Amal is an 18 year old boy and he prefer to be alone, tend to 
avoid communication with others and is found to be very shy in social 
situation. Identify the terminology for the above social personality 
characteristics?  
 
         Score : 1 

Time  :  2 mts.  
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Scoring Indicator  : 
 
 a) Introvert 

 b) Extrovert 

 c) Ambient 

 d) Impulsive  

  

18 hb-�p≈ Aa¬ F∂ Ip´n Ft∏mgpw H‰-bv°n-cp-°p-hm≥ B{K-ln-

°p-∂p.  a‰p-≈-h-cp-ambn Bi-b-hn-\n-abw \S-Øp-hm≥ Xmev]-cy-s∏-Sp-∂n-√.  a‰p-

≈--h-cpsS ap≥]n¬ \mWw ImcWw {]Xy-£-s∏-Sm≥ B{K-ln-°p-∂n-√.  ta¬∏-

d™ hy‡nXz {]tXy-IXIƒ tZymXn-∏n-°p∂ ]Zw Xncn-®-dn-s™-gp-XpI? 

 

C.O : 10 
M.P :  1, 4 
 
Question Text  : 
  
 Read the following statements Carefully.  
 
1. The new born baby is completely dependent on mother and attains 

pleasure through mouth region during this period. 
 
2. Child's attachment towards opposite sex parent is very crucial.  
 
3. Inappropriate parenting style such as harsh, repressive type of toilet 

training influence personality development. 
 
4. The person attains maturity in Psycho sexual development. 
 
5. The stage in which the child shows very little overt concern for 

sexuality.  
 

Identify the above stages of Psychosexual development and justify 
your answer. 

 
Scoring Indicator  : 
 
 Identifying each stages of    : ½ x 5 = 1½  

 Psychosexual development  :  

 Justifying the anaswer    2½    

         Score : 5 

Time  :  10 mts.  
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Xmsgs°mSp-Øn-cn-°p∂ {]kvXm-h-\-Iƒ hmbn-°p-I. 

 

1. \h-PmXinip ]cn-]q¿Æ-ambpw AΩsb B{i-bn®p Pohn-°p-∂p. 

C°me L -́Øn¬ kt¥mjw e`n-°p-∂Xv "hmb' tI{µo-I-cn-®p≈ 

{]h¿Øn-I-fn-eq-sS-bm-Wv. 

 

2. B¨Ip-´nbv°v AΩ-tbm-Spw, s]¨Ip-´nbv°p A—-t\mSpw Aan-X-amb 

BI¿jWw tXm∂p-∂p. 

 

3. tSmbvse‰v s{Sbn-\nwKv XpS-ßnb kmaq-lnI ioe-ßƒ sX‰mb coXn-bn¬ 

Ip´n-Isf ]cn-io-en-∏n-°p-∂Xv `mhn hy‡nXz cq]o-I-c-WsØ tZmj-I-c-

ambn _m[n-°p-∂p. 

 

4. sskt°m sk£z¬ Uh-e∏vsa‚n-eqsS Ip´n ]IzX B¿÷n-°p-∂p. 

 

5. Cu L -́Øn¬ Ip´n-bpsS Xmev]-cy-ßƒ sshhn-[y-am¿∂ taJ-e-I-fn-

te°p Xncn-bp-∂p. 

 

  apI-fn¬ sImSp-Øn-cn-°p∂ {]kvXm-h-\-Iƒ hyXykvX sskt°m 

sk£z¬ tÃPp-Isf kqNn-∏n-°p-∂-h-bm-Wv.  Ah Hmtcm∂pw Is- Øn \nß-

fpsS DØcw \ymbo-I-cn-°pI? 

 

 

C.O : 12 
M.P :  1, 2, 3 
 
Question Text   :  
 

While attending an interview, the interviewer asked you to write about 
yourself.  Apart from this, there are many methods in which we can assess 
personality.  Explain? 
 
Scoring Indicator  : 
 
 Identification  of different personality assessment : 2 
 Explanation        : 4  
  
         Score : 6 

Time  :  15 mts.  
 

tPmen-bv°mbn \nßƒ Hcp C‚¿hyq-hn¬ ]s¶-Sp-°p-tºmƒ \nß-sf-°p-

dn®v Hcp Ipdn-s∏-gp-Xm≥ Ah¿ Bh-iy-s∏-´p.  \nß-fpsS hy‡n-XzsØ Af-°p-

hm-\mWv Ah¿ CXn-eqsS e£y-an- -́Xv.  a‰v GsX√mw am¿§-ß-fn-eqsS \nß-

fpsS hy‡n-XzsØ Af-°p-hm≥ km[n-°pw.  hni-Z-am-°pI? 
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C.O : 12 
M.P :  1, 2, 3 
 
Question Text   :  
 

A Psychologist analysed a case by taking case history through an 
interview.  Then he administered a test in which the patient is asked to write 
stories on the cards shown.  After that the patient is given a 'Questionnaire' to 
fill up.  

Here the Psychologist used different types of assessment techniques.  
Identify the Projective technique used by the Psychologist.  Justify you 
answer.  
 
Scoring Indicator  : 
 
 Identify the Projective technique  : 1 
 Naming the test as TAT   : 1 
 Justification of answer    : 1  
  
         Score : 3 

Time  :  5 mts.  
 

C‚¿hyq F∂ kt¶Xw D]-tbm-Kn®v Hcp a\:imkv{X-⁄≥ case 
history FSp-°p-I-bm-bn-cp-∂p.  XpS¿∂v Nne Nn{X-ßƒ AS-ßnb Im¿Up 

ImWn®v AXnse Zriy-ßsf Bkv]-Z-am°n IY-Iƒ cNn-°p-hm\pw B-h-iy-s∏-

´p.  IqSmsX Hcp tNmZym-h-enbpw ]qcn-∏n®v hmßp-I-bp-- m-bn.  apI-fn¬ D]-

tbm-Kn-°-s∏´ sSÃp--Ifn¬ \n∂pw a\imkv{X⁄≥  D]-tbm-Kn® 'Projective 
Technique' GXm-sW∂p Is- Øn \ymbo-I-cn-°p-I.  

 

C.O : 10 
M.P :  4 
 
Question Text   :  
 

According to a Psychologist, 'a gap between self concept and reality is 
the main cause of maladjustment.  Name the theory and substantiate your 
answer.  
 
Scoring Indicator  : 
 
 Identifying Roger's self theory   : 1 
 Explanation of theoretical aspect   : 2 
         Score : 3 

Time  :  5 mts.  
 

Bfl-t_m-[hpw, bmYm¿∞yhpw XΩn-ep≈ hnShv PohnX kml-N-cy-hp-

ambn s]mcp-Ø-s∏´p t]mIp-∂-Xn\v {]Xn-Iq-e-am-Wv.  Cu Bibw GXp 



 10 

sskt°m-f-Pn-Ãn-t‚-Xm-Wv.  At±-l-Øns‚ kn≤m¥w Xncn-®-dn™v DØcw 

ka¿∞n-°p-I.  

 

C.O : 16 
M.P :  7 
 
Question Text   :  
 

Analyse the following situation faced by a XII standard student: 
 
1. Coming to school in time as a response to orders from school authority. 
2. Going to watch a movie as a response to a request from friends.  
3. Deciding to buy a new brand jeans to match with his friends.  
 
 Identify conformity, obedience and compliance from the above 
situations.  
 
Scoring Indicator  : 
 
 1. Obedience  : 1 
 2. Compliance   : 1 
 3. Conformity  : 1  
  
         Score : 3 

Time  :  5 mts.  
 

Hcp XII˛mw ¢m�v hnZym¿∞n A`n-ap-Jo-I-cn-°p∂ Xmsg sImSp-Øn-cn-

°p∂ {]kvXm-h-\-Iƒ hni-I-e\w sNøp-I.  

 

1. kvIqƒ A[n-Im-cn-I-fpsS \n¿t±i {]Imcw kvIqfn¬ IrXy-k-a-bØv  

F-Øp-∂p. 

2. kqlr-Øns‚ A`y¿∞\ {]Imcw kn\na ImWm≥ t]mIp-∂p. 

3. Iq´p-Im-cp-ambn s]mcp-Ø-s∏-Sp-∂-Xn-\p-th- n Hcp ]pXnb {_m≥Uv 

Po≥kv hmßp-hm≥ Xocp-am-\n°p∂p. 

 

 apI-fn¬ sImSp-Øn-´p≈ {]kvXm-h-\-Isf I¨t^m¿an-‰n, H_o-Un-

b≥kv, Iwπ-b≥kv F∂nh GXm-sW∂v Is- -ØpI:  

 

C.O :  
M.P :   
 
Question Text   :  
 

When we consider different styles of leadership, we find leader and 
group members are two parties.  But in certain styles of leadership the identity 
of the group members changes in to that of "followers".  Identify such 
leadership styles and substantiate your answer.  
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Scoring Indicator  : 
 
 Identify the styles of leadership  
 Charismatic & Transformational   : 2 
 Substantiating the answer    : 1 
         Score : 3 

Time  :  5 mts.  
 

hnhn[ t\Xr-Xz ssi-en-Iƒ ]cn-tim-[n-°p-tºmƒ {Kq∏v t\Xm-°ƒ 

F∂pw AwK-ßƒ F∂pw c- p hn`m-K-ßƒ ImWp-hm≥ Ign-bpw.  F∂m¬ 

Nne {]tXyI {Kq∏p-Iƒ ]cn-K-Wn-°p-tºmƒ Ah-bn¬ AwK-ßƒ t\Xm-hns‚ 

A\p-bm-bn-I-fmbn am‰-s∏-Sp-∂Xp ImWm-hp-∂-Xm-Wv.  AØcw {Kq∏p-Isf \bn-

°p∂ t\Xr-ssi-en-Iƒ GsX∂p Is- Øn DØcw ka¿∞n-°p-I.  

 

 

C.O : 18 
M.P :  4, 10 
 
Question Text   :  
 
 You have studied about famous leaders such as Hitler, Mahatma 
Gandhi, Nehru, Sree Narayana Guru etc.  Can you identify the differences in 
their leadership and justify the answer using different styles of leadership  
 
Scoring Indicator  : 
 
 Identifying the leadership styles    : 2 
 Explaining the different  leadership styles : 3 
 Justify       : 1  
  
         Score : 6 

Time  :  15 mts.  
ln‰ve¿, alm-flm-Km-‘n, s\lvdp, \mcm-b-W-Kpcp apX-emb t\Xm-°-sf-

°p-dn®v \nßƒ ]Tn-®n-´p-- -t√m.  \nßƒ Ah-cpsS hyXykvX t\Xr-Xz ssi-en-

I-sf- Xncn®dn™v hni-Zo-I-cn-°pI? 

 

C.O : 15 
M.P :  10 
 
Question Text   :  
 

On the 'cleaning day' in your school, when you are asked to clean your 
class room and surroundings in groups, one of your friends pretended to be 
cleaning.  In Psychology, this behaviour condition is termed as: 
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Scoring Indicator  : 
 
 Social Loafing   : 1 
         Score : 1 

Time  :  2 mts.  
 

ipNo-I-cW Zn\-Øns‚ `mK-ambn \nß-fpsS ¢m�v dqapw, ]cn-k-chpw hr-

Øn-bm-°p-tºmƒ \nß-fpsS kplrØv ipNo-I-cW {]hr-Øn-Ifn¬ ]s¶-Sp-°p-

∂-Xmbn `mhn-®p.  a\:imkv{X-Øn¬ Cu {]Xn-I-c-W-Øn\p ]d-bp∂ t]sc¥v?  

 

C.O :  
M.P :  
 
Question Text   :  
 

"In family there is a close interpersonal relationship among the 
members". 

 
This is a true statement.  Suggest another true statement from the topic 

'types of group;.  Also justify your statement.  
 
Scoring Indicator  : 
 
 Formation of true statement   : 1 
 Justification       : 2 
         Score : 3 

Time  :  5 mts.  
 

""IpSpw-_mw-K-ßƒ°n-S-bn¬ hy‡n-_-‘-ßƒ hfsc ZrV-amWv"".  CXp 

icn-bmb {]kvX-h-\-bm-Wv.  

 

""ssS∏v Hm^v {Kq∏v'' F∂ ]mT-`m-KØp \n∂v as‰mcp icn-bmb {]kvXm-

h\ \n¿t±-in-®p.  ka¿∞n-°p-I? 

 

C.O : 19 
M.P :  4, 10 
 
Question Text   :  
 

As a part of nature club activity, in your school, it is decided to conduct 
'green environment movement'.  Following are some responses related to 
green environment movement campaign.  Analyse the following responses 
and identify Affective, Behavioral and Cognitive  components of attitude. 

 
(i) Based on sufficient information about the environment your view 

toward 'green environment is positive'. 
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(ii) You feel happy when you see greenery. 
 
(iii) As a member of club, you actively participate in the tree 

plantation campaign.  
 

Scoring Indicator  : 
 
Cognitive  : Your view towards 'green environment is positive'  : 1 
Affective  : Feel happy when you see greenery         : 1 
Behavioral : Actively participate in the tree plantation campaign : 1 
  
         Score : 3 

Time  :  5 mts.  
 

t\®¿ ¢∫v Imºbv‚ns‚ `mK-ambn \nß-fpsS kvIqfn¬ {Ko≥ F≥h-

tbm¨sa‚v aqhvsa‚v \S-Øm≥ Xocp-am-\n-®p.  AXn-t\m-S-\p-_-‘n®v Nne {]Xn-

I-c-W-ßƒ Xmsg sImSp-°p-∂p.  Ah hne-bn-cpØn at\m-`m-h-Øns‚ aq∂v LS-

I-ßƒ Is- -Øp-I. 

 

(1) e`y-amb hnh-c-ß-fpsS ASn-ÿm-\-Øn¬ A\p-Iq-e-amb at\m-`m-

hamWv \nßƒ°v lcn-Xm-`-amb {]Ir-Xn-tbm-Sp-≈-Xv. 

 

(2) lcn-Xm-`-amb {]IrXn ImWp-tºmƒ \nßƒ°v kt¥mjw 

tXm∂m-dp-- v. 

 

(3) ¢_v saº¿ F∂ \nebn¬ acw sh®p ]nSn-∏n-°p∂ {]h¿Ø-\-

ß-fn¬ \nßƒ kPo-h-ambn ]s¶-Sp-°m-dp-- v.  

 

C.O : 20 
M.P :  3, 6, 10 
 
Question Text   :  
 

Raju and Ramesh are friends.  Both are having negative attitude 
towards dowry system.  Raju married Anusha without any dowry.  While 
Ramesh demanded dowry for his marriage.  Analyse the attitude and behavior 
in the above context and justify your answer.  
 
Scoring Indicator  : 
 
 Proper analysis of the statement: 
 

� Identifying Raju's attitude and  
behaviour are related   : 1 
 

� Identifying Ramesh's attitude and 
behaviour are not related   : 1 
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Justifying the answer   : 1 
         Score : 3 

Time  :  5 mts.  
 

kplrØp-°-fmb cmPp-hn\pw, cta-jn\pw kv{Xo[\w hmßn-bp≈ hnhm-

l-tØmSv s\K-‰o-hmb kao-]-\-am-Wv.  kv{Xo[\w hmßn-°m-sX-bmWv cmPp 

A\p-jsb hnhmlw Ign-®-Xv.  F∂m¬ ctajv Xs‚ hnhm-l-Øn\v kv{Xo[\w 

thW-sa∂v \n¿_‘w ]nSn-®p.  apI-fn¬ sImSp-Øn-´p≈ kµ¿`w hne-bn-cpØn 

Ccp-h-cp-tS-bpw at\m-`m-h-hpw, s]cp-am-‰hpw XΩn-ep≈ _‘w Is- Øn \ymbo-

I-cn-°p-I? 

 

C.O : 21 
M.P :  1 
 
Question Text   :  

When children develop negative attitude towards beggars.  Most often, 
they learn this kind of attitude from their parents.  Name the learning Principle 
caused the formation of attitude?  
 
Scoring Indicator  : 
 
 Observation learning   : 1 
         Score : 1 

Time  :  2 mts.  
amXm-]n-Xm-°-fn¬ \n∂mWv Ip´n-Iƒ ]e-t∏mgpw `n£-°m-tcmSv s\K‰o-hv 

at\m-`mhw hf¿Øm-dp-≈-Xv.  GXv ]T\ kn≤m¥w hgn-bmWv Ip´n-I-fn¬ 

CØcw at\m-`mhw cq]m-¥-c-s∏-Sm≥ klm-bn-°p-∂Xv? 

 

C.O : 23 
M.P :  2, 6, 7 
 
Question Text   :  
 

Akshay  is a 11 year old boy studying in Vth standard. He is deliberately 
given T.C. from school authorities.  It is done because his parents are 
diagnosed as HIV positive.  Do you think that the action taken by school 
authorities is justifiable?  Suggest some strategies to overcome this kind of 
biased attitude: 
 
Scoring Indicator  : 
 
 Identifying this as prejudice    : 1 
 Strategies to overcome prejudice   : 2 
 Connecting these strategies to the  
 present situation    : 1  
  
         Score : 5 

Time  :  8 mts.  
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A©mw ¢m�n¬ ]Tn-°p∂ A£-bns\ kvIqfn¬ \n∂v \n¿_-‘-ambn 

T.C. sImSpØv hnSm≥ kvIqƒ A[n-Im-cn-Iƒ Xocp-am-\n-®p.  A£-bns‚ c£n-

Xm-°ƒ HIV t]mkn-‰ohv BbXp sIm- m-Wv Cßs\ Xocp-am-\n-®-Xv.  kvIqƒ 

A[n-Im-c-I-fpsS \S-]-Sn-tbmSv \nßƒ tbmPn-°p-∂pt- m?  \ymbo-I-cn-°pI? 

 

CØ-c-Øn-ep≈ ]£-]m-X-]-c-amb at\m-`m-hsØ adn-I-S-°p-∂-Xn\p 

th- n-bp≈ \-S-]-Sn-Iƒ \n¿t±-in-°pI?  

 

C.O : 19 
M.P :  1, 4 
 
Question Text   :  
 

You are a member of a political party and actively participates in all its 
activities.  You strongly believe in the ideology of the party.  You also feels 
good, when your party undertakes certain charity works.  

 
Analyse the above situation and identify the three components of 

attitude and substantiate your answer. 
 
Scoring Indicator  : 
 
 Identifying 3 components of attitude    : 3 
 Substantiating the answer      : 2 
         Score : 5 

Time  :  10 mts.  
 

\nßƒ Hcp cmjv{Sob ]m¿ -́bn¬ AwKhpw AXnse {]h¿Ø-\-ß-fn¬ 

kPo-h-ambn ]s¶-Sp-°p∂ hy‡n-bm-Wv.  \n-ßƒ B ]m¿´n-bpsS \b-ß-fn¬ 

hniz-kn-°p∂ BfmWv.  \nß-fpsS ]m¿´n kmaq-lnI {]h¿Øn-Iƒ sNøp-∂Xv 

\nßsf kt¥m-jn-∏n-°m-dp-- v.   

apI-fn¬ sImSp-Øn-´p≈ {]kvXm-h-\-I-fn¬ \n∂v at\m-`m-h-Øns‚ aq∂v 

LS-I-ßƒ Is- Øn ka¿∞n-°pI? 

 

C.O : 19 
M.P :  1, 4 
 
Question Text   :  
 
 Analyse the following statements: 
 
 (1) One day when you came late, mother got angry. 
 (2) Indians are hard working  
 
 Identify the statement which reflects an attitude. 
 
Scoring Indicator  : 
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 Indians are hard working     : 1 
         Score : 1 

Time  :  2 mts.  
 

Xmsg sImSp-Øn-cn-°p∂ {]kvXm-h-\-Iƒ hne-bn-cp-Øp-I. 

 

(1) ho´n¬ sshIn h∂ Hcp Znhkw ]Xn-hn-√msX AΩ tZjy-s∏-´p. 

(2) `mc-Xo-b¿ ITn-\m-≤zm-\n-I-fm-Wv.  

 

 CXn¬ at\m-`m-h-Øns\ kqNn-∏n-°p∂ {]kvXm-h\ Is- -Øp-I.  

 

C.O : 21 
M.P :  2, 7, 10 
 
Question Text   :  
 

Today we are bombarded with thousands of advertisements.  Do you 
think that TV advertisements are meant to change our attitude?  Substantiate 
your answer with suitable examples?  
 
Scoring Indicator  : 
 
 Yes / No    : 1 
 Justification of answer    
  
 Factors of attitude change   : 
  
  Characteristics of attitude  : 1½   
  Communication factors : 1½ 
  Suitability of examples  : 1  
         Score : 5 

Time  :  10 mts.  
 

Bbn-c-°-W-°n\p ]c-ky-ß-fpsS hnkvt^m-S-\-ß-fpsS \Sp-hn-emWv \mw 

Pohn-°p-∂-Xv.  CØcw ]c-ky-ßƒ \nß-fpsS a-t\m-`m-hsØ kzm[o-\n-°m≥ 

Dt±-in-®n-´p-≈-h-bmtWm?  DZm-l-c-W-k-lnXw ka¿∞n-°pI?  

 

C.O : 27 
M.P :  3, 6, 7 
 
Question Text   :  
 

Some statements about stress and coping are given below: 
 
1. Generally students who face examination feel stress. 
2. Optimum amount of stress helps for better performance. 
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3. Optimum level of stress is the major factor that determine our 
success. 

 
 Identify fact, opinion and argument from the above statements:  
 
Scoring Indicator  : 
 
 1. Opinion    : 1 
 2. Fact    : 1 
 3. Argument  : 1  
         Score : 3 

Time  :  5 mts.  
 

kΩ¿±-tØm-Spw, AXn-t\m-Sp≈ s]m-cp-Ø-s∏-S-en-t\mSpw A\p-_-‘n-

®p≈ Nne {]kvXm-h-\-Iƒ Xmsg sImSp-°p-∂p.  Ah hni-I-e\w sNbvXv Ah-

bnse bmYm¿∞yw (fact), A`n-{]mbw (opinion), hmZw (argument) F∂nh 

Is- -ØpI? 

 

1. km[m-c-W-bmbn ]co-£bv°v Xøm-sd-°p∂ Ip´n-Iƒ°v kΩ¿±w 

D- m-Im-dp-- v. 

2. Hcp \n›nX tXmXv k-Ω¿±w anI® {]I-S-\-Øn\v klm-b-I-am-Wv.  

3. Hcp \n›nX tXmXv kΩ¿±w hnP-bsØ Xocp-am-\n-°p∂ Hcp 

{][m\ LS-I-am-Wv.  

 

 

C.O : 26 
M.P :  6, 7 
 
Question Text   :  
 

I met with an accident while riding my bike.  Now, analyse the following 
conditions: 
1. Due to lack of sufficient documents like license, R.C. Book, etc. I tried 

to compromise. 
 
2. Though I have proper documents and the fault was from the other side, 

I controlled my emotions and withdraw from arguments. 
 
3. When my friend asked about the accident I attribute the cause of 

accident as the fault of other person.  
 
 Identify the coping strategies in the above conditions.  
 
Scoring Indicator  : 
 
 1. Task-oriented coping    : 1 
 2. Emotion – focused coping   : 1 
 3. Ego-defensive coping   : 1  
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         Score : 3 
Time  :  5 mts.  

 

 ss_°v HmSn-°p∂ ka-bØv F\n°v ]‰nb BIvkn-U‚n-t\m-S-\p-_-

‘n®v Nne {]kvXm-h-\-Iƒ Xmsg sImSp-°p-∂p.  

 

1. aXn-bmb tcJ-Iƒ C√m-Ø-Xn-\m¬ Rm≥ A\p-c-⁄-\-Øn\p {ian-°pw. 

2. sX‰v adp-`m-K-Øm-bn-´pw, aXn-bmb tcJ-Iƒ Fs‚ ssIøn-ep-- m-bn´pw 

Rm≥ Fs‚ sshIm-cn-IX \nb-{¥n®v, hmZ-K-Xn-I-fn¬ \n∂pw Hgn-hm-bn. 

3. Fs‚ kplrØv BIvkn-U‚n-s\-]‰n tNmZn-®-t∏mƒ AXn\p ImcWw 

at‰ hy‡nbn¬ Btcm-]n-®p.   

 

 apI-fn¬ sImSp-Øn-´p≈ {]kvXm-h-\-I-fn¬ D]-tbm-Kn-®n-cn-°p∂ 

tIm∏nßv kv{Sm‰PnIƒ GXmWv? 

 

C.O : 25 
M.P :  2, 5 
 
Question Text   :  
 

"When the bell rang for the examination, suddenly you felt a blak-out 
for a moment".  This is an example for a stressful situation.  Suggest some 
similar situations (at least two) that evoke stress.  
 
Scoring Indicator  : 
 
 Suggesting stressful life situation    : 2 
 (minimum 2) 
         Score : 2 

Time  :  5 mts.  
 

 ]co£ aWn-\mZw s]s´∂p {ihn-°p-tºmƒ XmXvIm-en-I-ambn \nß-

fpsS a\-�n¬ Hcp iq\yX A\p-`-h-s∏-Sp-∂p.  CXv kΩ¿±'Øns‚ IrXy-amb 

e£-W-am-Wv.  kΩ¿±w P\n-∏n-°p∂ XØp-ey-amb GXm\pw Ah-k-c-ßƒ 

tcJ-s∏-Sp-Øp-I.  

 

C.O : 25 
M.P :  2, 4, 10 
 
Question Text   :  
 
 Analyse the following life events:  
  
 1. Death of a close family member. 
 2. Change in eating habits. 
 3. Illness of a family member 
 4. Accident occurred in the family 
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 5. Appearing for examinations 
 6. Break – up with a friend.  
 
 Rearrange these life events from least stressful to most stressful 
situations in your life.  Justify you arrangements.  
 
Scoring Indicator  : 
 
 Order of arrangement  (2, 6, 5, 3, 4, 1) : 1½  
 Justifying arrangement     : 1½  
         Score : 3 

Time  :  5 mts.  
 

 Xmsg sImSp-Øn-cn-°p-∂ PohnX kµ¿`-ßƒ hni-I-e\w sNøp-I. 

 

 1. ASp-∏-ap≈ IpSpw_ _‘p-hns‚ acWw 

 2. `£-W-{I-a-Øn-ep≈ am‰w 

 3. IpSpw-_mw-K-Øns‚ Akp-Jm-hÿ 

 4. IpSpw-_-Øn¬ A]-ISw kw`-hn-°pI 

 5. ]co-£sb A`n-ap-Jo-I-cn-°pI 

 6. Iq´p-Im-c\p-ambn ]nWßn∏ncn-bp-I. 

 

 apI-fn¬ sImSp-Øn-cn-°p∂ kµ¿`-ßsf kΩ¿±-Øns‚ Xo{h-X-bpsS 

ASn-ÿm-\-Øn¬ ]p\:{Iao-I-cn-°p-Ibpw AXns\ km[q-I-cn-°p-Ibpw sNøp-I.  

 

C.O : 25 
M.P :  2, 6 
 
Question Text   :  
 
 Babu is a XII standard student.  He is average in his studies.  His 
parents are separated.  Every morning and evening he is doing a part time job 
to support his family.  One day he was teased by the class teacher for not 
completing home work in front of his classmates.  On the same day his house 
was collapsed in the heavy rain. 
 
 Identify different types of stresses experienced by Babu. 
 
Scoring Indicator  : 
 
 Proper Identification of different types of stress:  
  
1. Environmental : house collapsed in heavy rain 
2. Social   : Separation of parents 
3. Psychological : Teased by class teacher in front of  
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     classmates   
         Score : 3 

Time  :  5 mts.  
 

 _m_p Hcp +2 hnZym¿∞n-bm-Wv.  Ah≥ ]T-\-Øn¬ icm-icn°mc-

\mWv.  ]T-\-tØm-sSm∏w kz¥w IpSpw-_-sØ kmº-Øn-I-ambn klm-bn-°m-

\mbn Ah≥ tPmen°p t]mIm-dp-- v.  Krl-]mTw sNbvXn√ F∂ H‰-°m-cWw 

sIm- v Ahs‚ A[ym-]-I≥ ¢m�n¬ h®v ]c-ky-ambn Ahs\ Ifn-bm-°p-I-

bp-- m-bn.  AtX Znhkw Xs∂ Ahs‚ `h\w t]am-cn-bn¬ XI¿∂p. 

  

   _m_p Xs‚ Pohn-X-Øn¬ A\p-`-hn® hnhn[ ""kΩ¿±''ßsf Xncn-®-dn-bp-I.  

 

C.O : 26 
M.P :  2, 7 
 
Question Text   :  
 

"Task oriented coping aims at realistic coping with the adjustive 
demands.  They tend to be based on an objective assessment of the stress 
situation and on a deliberate, logical and constructive cause of action" 

 
Suggest two life examples  of task oriented coping styles.    

 
Scoring Indicator  : 
 
 Suggesting different life examples : 2 
          Score : 2 

Time  :  4 mts.  
 "SmkvIv Hmdn-b‚vUv tIm]nwKv' \S-Øp∂ Hcp hy‡n bYm¿∞y t_m[-

tØmsS {]iv\-ßsf hne-bn-cpØn \√ hÆw Nn¥n®v kΩ¿±-ßsf A`n-ap-Jo-

I-cn-°p-∂p.  

 SmkvIv Hmdn-b‚Uv tIm]nw-Kn\v c- v DZm-l-c-W-ßƒ Fgp-Xp-I.  

 

C.O : 22, 29 
M.P :  6, 7 
 
Question Text   :  
 

Which among the following is an example for prejudice.  
 
(a) Abnormality is a deviation from Normality 
(b) Some Abnormal Person cannot adjust socially. 
(c) Generally abnormal persons are violent  
(d) All Abnormal persons are not physically strong. 
  Justify your answer? 
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Scoring Indicator  : 
 
 Identification   : 1 
 Justification  : 1 
          Score : 2 

Time  :  4 mts.  
 

 Xmsg-sIm-Sp-Øn-cn-°p-∂-h-bn¬ \n∂pw "ap≥hn-[n°p' DZm-l-cWw  

Is- -Øp-I. 

 

(1) t\m¿am-en-‰n-bn¬ \n∂p-ap≈ hyXn-bm-\-amWv A_vt\m¿am-en-‰n. 

(2) Nne am\-knI tcmKn-Iƒ°v kaq-l-hp-ambn s]mcp-Ø-s∏´p  

t]mIp-∂-Xn\v km[y-a-√. 

(3) am\-knI tcmKn-Iƒ s]mXpsh A-{I-am-k-‡-cm-Wv.  

(4) F√m am\-knI tcmKnIfpw Imbn-I-_-e-ap-≈-h-c-√.  DØcw  

\ymbo-I-cn-°p-I. 

 

C.O : 32 
M.P :  4 
 
Question Text   :  
 

Analyse the following life situation.  
 
(a) Rema feels nervousness while getting into the bus.  

 (b) She has difficulty in attending the conversation with her friends.  
 (c) She usually have over sweating and dryness of throat 

 while    seeing a Policeman.  
 

Identify the disorder and justify the answer. 
  
Scoring Indicator  : 
 
 Identification of Generalised Anxiety disorder  : 1 
 Justification       : 2 
 
          Score : 3 

Time  :  5 mts.  
 

 Xmsg-∏-d-bp∂ kµ¿`-ßƒ hni-I-e\w sNøp-I. 

 

 (1) _�n¬ Ib-dp-tºmƒ AIm-c-W-ambn cabv°v ]cn-{`-a-ap-- m-Ip-∂p. 

 (2) Ip´p-Im-cp-am-bn kw`m-j-W-Øn-te¿s∏-Sp-tºmƒ Ahƒ°p _p≤n- 

ap´\p`-h-s∏-Sp-∂p. 

 (3) t]meo-kp-Imsc ImWp-tºmƒ AIm-c-W-ambn Ahƒ°v hnb¿∏- 

\p-`-h-s∏-Sp-Ibpw, sXm-  hc-fp-Ibpw sNøp-∂p. 
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CXp GXp tcmK-am-sW∂p Is- -Øp-Ibpw DØcw \ymbo-I-cn-

°p-Ibpw sNøp-I.  

C.O : 32 
M.P :  7 
 
Question Text   :  
 

Raghav is a 16 year old boy.  He was good in studies, but now his 
academic performance is poor.  For the last few months he complaints that he 
is having unpleasant unwanted thoughts about cleanliness. He is not able to 
control these thoughts.  Recently he feels compelled to perform certain acts 
like frequent hand washing behaviour.  Identify the psychological disorder.  
 
Scoring Indicator  : 
 
 Obsessive compulsive disorder  : 2 
          Score : 1 

Time  :  2 mts. 
  

 16 h-b-�p-Im-c-\mWv cmL-hv.  Ah≥ ]T-\-Øn¬ anSp-°-\m-bncp∂p, 

]s£ kao] Ime-Øm-bn v́ Ahs‚ hnZym-`ymk \ne-hmcw tami-am-Wv.  

GXm\pw amk-ß-fm-bn v́ hrØn-sb-°p-dn®v \nc-¥-c-am-b-Xpw, Akz-ÿ-X-bp-- m-

°p-∂-Xp-amb hnNm-c-ßƒ Ahs\ th- -́bm-Sp-∂-Xmbn ]cm-Xn-s∏-Sp-∂p.  Ah\v 

Cu hnNm-c-ßsf \nb-{¥n-°m\pw km[n-°p-∂n-√.  Cuøn-sS-bmbn \nc-¥-c-

ambpw \n¿_-‘-ambpw ssI Igp-Im-Xn-cn-°p-hm\pw Ah-\m-Ip-∂n-√.  CXn¬ 

\n∂v cmL-hs‚ am\-knI tcmK-ta-sX∂v Xncn-®-dn-bp-I. 

 

C.O : 32 
M.P :  7 
 
Question Text   :  
 

Seetha is a 16 year old girl.  She is average in her studies.  
Occasionally she shows sudden terror attacks in class room.  During these 
episodes she shows increased palpitation, respiration, trembling sweating 
etc..  After a while these symptoms subside Identify the psychological 
disorder.  
 
Scoring Indicator  : 
 
 Panic disorder  : 2 
          Score : 1 

Time  :  2 mts.  
 

 16 hb-kp-Im-cn-bmWv koX.  Ahƒ ]T-\-Øn¬ icm-i-cn-bm-Wv.  Nne 

ka-b-ß-fn¬ Ahƒ ¢m�n¬ hnImc hnt£m`w {]I-Sn-∏n-°m-dp-- v.  InX-bv°p-

I, hnb¿°p-I, izmk-KXn thK-Øn-em-hp-I XpS-ßnb e£-W-ßfpw {]I-Sn-∏n-
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°p-∂p.  Aev] ka-b-Øn\p tijw Cu e£-W-ßƒ A{]-Xy-£-am-hp-I-bp 

sNøp-∂p.  CXv GXv am\-kn-I-tcm-K-Øns‚ e£-W-am-Wv F∂v Is- -ØpI?  

 

C.O : 32 
M.P :  3, 7 
 
Question Text   :  
 

Following are some behavioural disorders:  
 
 Separation Anxiety Disorder 
 Mental Retardation 
 Eating Disorder 
 Functional Enuresis  
 
Identify the disorder in which the patient has significantly below 

average intellectual capacity from the above list. 
 
Scoring Indicator  : 
 
 Mental retardation  : 1 
          Score : 2 

Time  :  2 mts.  
 

 GXm\pw 's]cp-am‰ sshI-ey-ßƒ' Xmsg sImSp-Øn-cn-°p-∂p.  

 

  sk∏-td-j≥ B≥Ivssk‰n Untkm¿U¿ 

  sa‚¬ dnSm¿tU-j≥ 

  Cu‰nMv Untkm¿U¿ 

  ^Mvj≥ C\yq-d-knkv 

 

 Ch-bn¬ \n∂pw icm-i-cn-bn¬ Ipd™ _u≤nI \ne-hm-c-ap≈ tcmKm-

hÿ GsX∂v Is- -ØpI? 

 

C.O : 30, 34 
M.P :  2, 6, 7 
 
Question Text   :  
 

Now a days people used to visit physicians when they are physically ill.  
However, they hesitate to visit a mental health practitioner for the treatment of 
mental disorders. 

 
Suggest some measures to give an awareness about the scientific 

nature of the disease and treatment of mental disorders. (Explain your answer 
based on the classification of disorders and treatment). 
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Scoring Indicator  : 
 
 Concept of normality / abnormality  : 1 
 Classification of disorders    : 1½ 
 Treatment of disorders    : 1½ 
 Justification (Suggesting measures) : 2    
          Score : 6 

Time  :  15 mts.  
 

 imco-cnI tcmK-ßƒ hcp-tºmƒ DS-\Sn sshZy-k-lmbw tXSm-dp≈ 

\Ωƒ am\-knI Akzm-ÿy-ßƒ hcp-tºmƒ Hcp at\m-tcmK hnZ-Kv≤s\ 

kµ¿in-°p-hm≥ aSn ImWn-°p-∂p.  am\-knI tcmK-ß-sf-°p-dn®pw Ah-bpsS 

NnIn-’-sb-°p-dn®pw imkv{Xo-b-amb Ah-t_m[w krjvSn-°p-hm≥ ]cym-]vX-

amb Nne \n¿t±-i-ßƒ Xøm-dm-°p-I. 

  

 am\-knI tcmK-sØ-°p-dn®pw, NnIn-’-sb-°p-dn-®p-ap≈ a\:imkv{X 

kn≤m-¥-ß-fpsS ASn-ÿm-\-Øn¬ DØ-c-sa-gp-Xp-I.   

 

C.O : 32 
M.P :  3, 7 
 
Question Text   :  
 

The following are comments of a teacher about his students: 
 

� Maya is excessively active in the class room.  She can't sit in a 
place and attend her studies. 

 
� Nithin opposes to everything asked by his class teacher and 

parents. But he obeys when his elder brother ask to do 
something.  

 
� Jaya can't even come to the class because she gets excessively 

anxious it when separated from parents.  
 

The above are some examples of behavioural, disorders.  Identify and 
explain the behavioural disorder.  
 
Scoring Indicator  : 
 
 Identification of disorder as Attention  
 Deficit / Hyperactivity disorder  : 1 
 Oppositional Defiant disorder   : 1 
 Separation anxiety disorder   : 1 
 Explanation     : 2 
          Score : 5 

Time  :  10 mts.  
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 Xs‚ hnZym¿∞n-I-fpsS kz`m-h-ssh-hn[y-ß-sf-°p-dn®v Hc-≤ym-]-I≥ ]d-

bp-∂Xv {i≤n-°p-I.  

 

� amb Aan-X-ambn {]h¿Ø-\-ß-fn¬ G¿s∏-Sp∂ hnZym¿∞n-bm-Wv.  

F∂m¬ Ahƒ°v kzÿ-ambn Xs‚ ]T-\-{]-h¿Ø-\-ß-fn¬ Aev]w 

t]mepw {i≤n-°p-hm≥ km[n-°p-∂n-√. 

 

� Xs‚ A≤ym-]-I-cpw, c£-I¿Øm-°fpw Bh-iy-s∏-Sp∂ GXp Imcy-

tØmSpw FXn¿°p∂ kz`m-h-ap≈ BfmWv \n[n≥.  F∂m¬ Xs‚ 

kz¥w ktlm-Z-c≥ Bh-iy-s∏-´m¬ Ah≥ A\p-k-c-W-tbmsS 

{]h¿Øn-°pw.  

 

� amXm-]n-Xm-°-fn¬ \n∂pw th¿]n-cn-™n-cn-°p-hm≥ BIm-ØXp aqew 

Pbbv°v ¢m�n¬ hcp-hm≥ km[n-°p-∂n-√.   

 

Nne s]cp-am‰ sshI-ey-ß-fpsS DZm-l-c-W-amWv apI-fn¬ sImSp-Øn-cn-°p-∂-

Xv.  Ah Xncn-®-dn™v hni-Zo-I-cn-°pI? 

 

C.O : 32 
M.P :  5, 7 
 
Question Text   :  
 

The crimes committed by young adolescents (below 18 years of age) 
are treated differently by law.  They are sent to certain reformatory school why 
they are send to such schools rather than jail.  Justify your answer in the 
context of appropriate.  Psychological disorder.  

 
Scoring Indicator  : 
 
 Identify the condition as Juvenile Delinquency   : 1 
 Justification of answer      : 2 
 
          Score : 3 

Time  :  5 mts. 
  

 18 hb-�n-\p-Xmsg {]mb-ap≈ Ip‰-hm-fn-Isf Hcp {]tXyI coXn-bn-emWp 

\nbaw ]cn-K-Wn-°p-∂-Xv.  AØ-c-°msc Pbn-en-te-°-b-bv°p-∂-Xn\p ]Icw 

Zp¿KpW ]cn-lmc ]mT-im-e-I-fn-te-°mWv Ab-bv°p-∂-Xv.  F¥p ]cn-K-W-\-

bpsS ASn-ÿm-\-Øn-emWv \nbaw Chsc C{]-Imcw ssIImcyw sNøp-∂Xp 

F∂ hkvXpX \nß-fpsS DØ-c-Øn-eqsS \ymbo-I-cn-°pI? 

 

C.O : 32 
M.P :  7 
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Question Text   :  
 

In a particular type of somatoform disorder the patient is pre occupied 
with fear of getting ill.  Thus he goes after medical reviews and journals to get 
more informations about new and different diseases.  Name the type of 
somatoform disorder.  
 
Scoring Indicator  : 
 
  Hypochondriasis  : 1 
          Score : 1 

Time  :  2 mts.  
 

 Btcm-Ky-am-kn-I-Iƒ, a‰p t{imX-�p-Iƒ F∂nh \nc-¥cw hmbn-°p-

Ibpw Ah-bn¬ \n∂pw ]pXnb tcmK-ß-sfbpw tcmK e£-W-ß-sfbpw Ipdn®p 

Adn™p Ah Xs∂bpw ]nSn-Iq-Sptam F∂p thh-em-Xn-s∏-Sp∂ tkmam-

t‰mt^mw Untkm-U-dns‚ D]-hn-`mKw Is- -ØpI? 

 

C.O : 34 
M.P :  7 
 
Question Text   :  
 

Arun has an elder sister of 4 years old.  She is afraid of the whistle of 
the pressure cooker.  To solve this problem Arun's father approached the 
whistling cooker along with Arun many times.  And his sister witnessed these 
situations.  Here Aurn's father used one of the therapeutic technique.  Name 
the technique and explain.  
 
Scoring Indicator  : 
 
 Modeling  : 2 
 Explanation  : 2 
          Score : 3 

Time  :  5 mts.  
 

 {]j¿ Ip°-dns‚ hnkn-en-t\mSv `b-ap-≈ Hcp Ip´n-bmWv Acp-Wns‚ 

ktlm-Z-cn.  Acp-Wns‚ A—≥ CXp am‰n-sb--Sp-°m≥ B{K-ln-®p.  CXn-\mbn 

hnkn¬ apg-°p∂ Ip°-dns‚ kao-]-tØbv°v ktlm-Zcn Im¨sI Acp-Wns\ 

]e-h´w sIm- p-t]m-bn.  Cu {]iv\w ]cn-l-cn-°p-∂-Xn-\mbn Acp-Wns‚ A— 

D]-tbm-Kn® coXn GXp sXdm-]yq-´nIv sSIv\n-°p-ambn tbmPn-°p-∂-Xm-Wv.  hni-

Zo-I-cn-°pI?  

 

C.O : 34 
M.P :  6, 7 
 
Question Text   :  
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A Psychologist during the therapy asked the patient to tell whatever 
comes in to his mind freely, and also report the dreams.  Identify the 
therapeutic approach followed by the psychologist?  Do you think that by 
using such techniques we can treat psychological disorders? Justify?  
 
Scoring Indicator  : 
 
 Identifying the approach as Psychodynamic    : 1 
 Different techniques used by psychodynamic approach : 2 
 Justify the answer        : 2 
 
          Score : 5 

Time  :  10 mts.  
 

 Hcp a\:imkv{X-⁄≥ sXdm-∏n-bpsS `mK-ambn Xs‚ t]jy‚n-t\mSv a\-

�¬ hcp∂ F√m Imcy-ßfpw XSkw IqSmsX dnt∏m¿´v sNøm≥ Bh-iy-s∏-Sp-

Ibpw Xs‚ kz]v\-ßsf°pdn®v ]d-bm≥ Bh-iy-s∏-Sp-Ibpw sNbvXp.  Cu 

a\:imkv{X-⁄≥ ]n¥p-S-cp∂ sXdm∏n kao-]\w GXmWv? 

 

 CØcw am¿§-ßƒ D]-tbm-Kn®v am\-knI tcmK-ßƒ NnI-’n-°m≥ 

km[n-°ptam?  hne-bn-cp-ØpI?  

 

C.O : 34 
M.P :  1, 9 
 
Question Text   :  

Suggest some Indian system of therapeutic procedure which are used 
to treat mental illnesses.  Explain :  
 
Scoring Indicator  : 
 
 Indigenous therapy   : 1 
 Explaining Yoga   : 2 
 Meditation   : 1 
 Justification of answer : 1 
          Score : 5 

Time  :  10 mts.  
 

 am\-knI tcmK-ßsf NnIn-’n-°p∂ `mc-Xo-b-amb GXm\pw sXdm-]yq-

´nIv coXn-Iƒ \n¿t±-in®v hni-Z-am-°pI?  

 

C.O : 34 
M.P :  3, 7 
 
Question Text   :  
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"One cannot be relaxed and anxious at the same time".  Name 
appropriate behaviour therapeutic technique with which the above statment is 
associated.  
 
 
 
Scoring Indicator  : 
 
 Systematic desensitization  : 1 
          Score : 1 

Time  :  2 mts.  
 ""Hcp hy‡n°v Htc kabw hn{i-am-h-ÿ-bnepw D¬I-WvTm-h-ÿ-bnepw 

Ccn-°p-hm≥ km[n-°p-I-bn√''.   

 apI-fn¬ ]d™ {]kvXm-h\ ASn-ÿm-\-am°n {]h¿Øn-°p∂ s]cp-am‰ 

NnIn-’m-co-Xn-bpsS t]sc-gp-XpI?  

 

C.O : 32 
M.P :  3, 7 
 
Question Text   :  
 

Analyse the following statement.  
 
1. IQ below 70 
2. Arrested intellectual growth before the age of 18 yrs. 
3. Limitation in adaptive functioning 
4. Above average ability in any one area of life.  
 
Which among the above statement is not suitable criteria for mental 

retardation.     
 
Scoring Indicator  : 
 
 Statement  : 4 
          Score : 1 

Time  :  2 mts.  
 Xmsg-sIm-Sp-Øn-cn-°p∂ {]kvXm-h-\-Iƒ hni-I-e\w sNøp-I. 

 

 (1) IQ 70 ˛ ¬ Xmsg 

 (2) 18 hb-�n\v ap≥]v D≈ _p≤n-]-c-amb hf¿®-bpsS apc-Sn-∏v. 

 (3) kml-N-cy-ß-fp-ambn s]mcp-Ø-s∏-Sp-∂-Xn¬ ]cn-an-Xn. 

 (4) Pohn-X-Øns‚ GsX-¶nepw Hcp taJ-e-bn¬ icm-i-cn-bn¬ \n∂v  

Db¿∂ Ignhv {]I-Sn-∏n-°p-∂p. 

 

 apI-fn¬ sImSp-Øn-´p≈ {]kvXm-h-\-I-fn¬ _p≤n-amµyw F∂ Ah-

ÿbv°v A\p-tbm-Py-a-√mØ {]kvXm-h\ Is- -Øp-I.  
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C.O : 32 
M.P :  3 
 
Question Text   :  
 

Analyse the following statements : 
 
1. It is a mood disorder. 
2. It include both periods of depression and man ia. 
3. It has varying degrees of intensity.  

Name the disorder? 
 
Scoring Indicator  : 
 
 Bipolar disorder    
          Score : 1 

Time  :  2 mts.  
 Xmsg-∏-d-bp∂ {]kvXm-h-\-Iƒ hne-bn-cp-Øp-I. 

 1. CXv Hcp aqUv Untkm¿U¿ BWv. 

 2. CXn¬ hnjm-Zw, D∑mZw F∂o c- v Ah-ÿ-Ifpw amdn amdn hcm 

dp- v. 

 3. ]e Xo{h-X-bn-ep≈ Ahÿ Cu Akp-J-Øn-\p-- v.  

 

  Akp-J-Øns‚ t]sc-gp-XpI? 

 

C.O : 32, 34 
M.P :  1, 6 
 
Question Text   :  
 

Identify the Psychological disorder which can be treated by using 
systematic desensitization method  

 
 a) Schizophrenia  
 b) Mental Retardation 
 c) Hydro Phobia 
 d) Autism  
 
Scoring Indicator  : 
 
 Hydrophobia           
         Score : 1 

Time  :  2 mts.  
 

 Xmsg-sIm-Sp-Øn-cn-°p∂h-bn¬ "knÃ-am-‰nIv Unsk≥kn-ss‰-tk-j≥" 

F∂ NnIn-’m-am¿§w D]-tbm-Kn®v NnIn-’n-°m-hp∂ am\-knI AkpJw 

GsX∂p Is- -ØpI?  
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C.O : 34 
M.P :  4, 7 
 
Question Text   :  
 
 The following are some of the behaviour therapy techniques.  
 

• Flooding 
• Systematic desensitization 
• Assertive therapy 
• Token economy  

 
Identify the behaviour therapy technique which uses the training of 

relaxation to treat the disorder.  Explain.  
 
Scoring Indicator  : 
 
 Systematic desensitization   : 1 
 Explaining the technique  : 2 
          Score : 3 

Time  :  5 mts.  
 

 Xmsg sImSp-Øn-cn-°p-∂Xv GXm\pw s]cp-am‰ NnIn’m coXn-I-fm-Wv.  

   

• ^vfUnwKv 

• knÃ-am-‰nIv Uosk≥kn-s‰-tk-j≥ 

• Ak¿´ohv sXdm∏n 

• tSm°¨ Ct°m-Wan 

 

apI-fn¬ ]d™ s]cp-am‰ NnIn-’m-co-Xn-I-fn¬ at\m-hn-{i-am-hÿ D]-

tbm-Kn-°p∂ NnIn’m coXn Is- -Øp-I. 

 

UNIT – 8 
C.O : 44 
M.P :  1, 7, 10 
 
Question Text   :  
 

You know that now a days computers are the vital part of human life.  
The studies conducted in this field reveal that after two or three years the 
disposal of computer wastes will become a toughest challenge.  As an 
environmentalist suggest some pro-environmental behaviour initiatives to 
meet this challenge.  
 
Scoring Indicator  : 
 
 Explaining Pro-environmental behaviour   : 1 
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 Means to solve the problem   : 3 
 Uniqueness of suggested measures    : 2 
  
          Score : 6 

Time  :  15 mts.  
 

 C°m-eØv Iºyq-´¿ a\p-jy-Po-hn-X-Øns‚ Ahn-`m-Py-L-S-I-am-sW∂v 

\nßƒ°-dn-bm-at√m?  Cu taJ-e-bn¬ \S∂ ]T\ßƒ shfn-s∏-Sp-Øp-∂Xv 

ct- m, aqt∂m h¿j-ßƒ Ign-bp-tºmƒ Iºyq-´¿ amen-\y-ßƒ (Cu-th-Ãv) Hcp 

]mcn-ÿn-XnI {]iv\-ambn amdpw.  Hcp ]cn-ÿnXn {]h¿Ø-I≥ F∂ \ne-bn¬ 

]cn-ÿn-Xnsb kwc-£n-°p∂Xn\p≈ am¿§-ßƒ \n¿t±-in-°pI? 

 

 

C.O : 43 
M.P :  3, 4 
 
Question Text   :  
 

Read the following statements carefully. 
 
i) The earthquake at Lathoor and Bhuj caused extensive damage  

to property and Physical environment. 
 
ii) Sound Pollution leads to adverse Physical and Psychological 

consequences.  
 
iii) Population density not only affects individual behaviour but also  

affects quality of social behaviour. 
 
iv) Sand mining causes serious environmental consequences.  
 
v) Sewage and garbage makes another serious problem for the  

humanity.  
 
vi) Use of non recycle plastics make adverse consequences on  

environments.  
 
 Now, categories the above statement into impact of human behaviour 
on environment and environmental effects on human behaviour.  Explain. 
 
Scoring Indicator  : 
 
 1. Categorization into two    : 3 

 
 2. Explanation       : 3 
 
          Score : 6 

Time  :  15 mts.  
 Xmsg-sIm-Sp-Øn-cn-°p∂ {]kvXm-h-\-Iƒ {i≤m-]q¿∆w hmbn-°p-I. 
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 1. eØq-cnepw `pPnepw \S∂ `qan-Ip-ep°w hkvXp-h-I-Iƒ°pw Np‰p- 

]m-Sn\pw hym]-I-amb \mi-\-jvS-ßƒ°n-S-bm-°n. 

 

2. i_vZ-a-en-\o-I-cWw imco-cn-Ihpw, am\-kn-I-hp-amb {]Xym-Lm-X-

ßƒ krjvSn-°p-∂p. 

 

 3. P\-km-{µX hy‡n-bpsS kz`m-h-sØbpw kmaq-lnI s]cp-am-‰- 

Øns‚ KpW-ß-sfbpw kzm[o-\n-°p-∂p. 

 

 4. aW¬hm-c¬ cq£-amb kmaq-lnI {]Xym-Lm-X-ßƒ  

D- m-°p-∂p.  

 

 5. Agp°p Nmep-Ifpw, amen-\y-ßfpw Kpcp-X-c-amb am\p-jnI  

{]iv\-ßƒ krjvSn-°p-∂p. 

 

 6. kwkv°-cn-°m≥ Ign-bmØ πmÃnIv D]-I-c-W-ßƒ Np‰p-]m-Sn\v  

  {]Xym-Lm-X-ßƒ D- m-°p-∂p.  

 

 apI-fn¬ X∂n-cn-°p∂ {]kvXm-h-\-Isf {]Ir-Xn°v ta¬ a-\p-jys‚ IS-

∂p-I-b-‰-ambpw a\p-jy-\p-ta¬ {]Ir-Xn-bpsS IS-∂p-I-b-‰-ambpw Xcw Xncn-°p-I.  

 

C.O : 43 
M.P :  2, 6, 7 
 
Question Text   :  
 

When reports on AIDS appeared in USA, we Indians conceived it as a 
foreign problem.  But when sufficient data revealed the HIV infections among 
Indians, we are now more cautions about the problem.  Explain the condition 
by using the 'Life Space' theory of Kurt Lewin.  
 
Scoring Indicator  : 
 
 Concept of life space by Kurt Lewin   : 2 
 Explaining the condition by using the situation  : 1 
 
          Score : 3 

Time  :  5 mts.  
 

 Ata-cn-°-bn¬ Fbn-Uvkn-s\-°p-dn-®p≈ dnt∏m¿´p-Iƒ {]Xy-£-s∏´p 

XpS-ßn-b-t∏mƒ AXv C¥ym-°m¿ Hcp hntZi {]iv\-ambn t\m°n°- p.  

F∂m-en-t∏mƒ e`y-amb hnh-c-ßƒ ImWn-°p-∂Xv C¥ym-°m-cn-epw hf-sc-b-

[nIw HIV _m[n-X-cp-s- -∂m-Wv.  am{X-a√ \Ω-sf√mw AXn-s\-°p-dn®v D-XvI-

WvTm-Ip-e-cm-Wv.  Cu {]iv\sØ 'I¿ v́se-hns‚' sse^v kvs]bokv Xnb-dn-bn-

eqsS hni-Z-am-°pI?  
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UNIT – 9 
C.O : 49 
M.P :  1, 3, 6 
 
Question Text   :  
 

Among the following statements which is not suitable for a school 
counselor.  

 
1. The school counselor can deal with all the problems of students.  
2. He gives information about suitable jobs & students. 
3. He collects detailed information about students.  
4. He studies about the efficacy of his counseling activities.  
 

Scoring Indicator  : 
 
 Statement No. 1    
          Score : 1 

Time  :  2 mts.  
 

 Xmsg∏d-bp-∂-h-bn¬ GXv {]kvXmh-\-bmWv Hcp kvIqƒ 

Iu¨kne¿°v  tbmPn-°m-Ø-Xv.  

 

1. Hcp kvIqƒ Iu¨kne¿°v hnZym¿∞n-Isf kw_-‘n-°p∂ 

F√m {]iv\-ßfpw ssIImcyw sNøm≥ Ign-bpw. 

 

 2. At±-l-Øn\v hnZym¿∞n-Iƒ°-\p-tbm-Py-amb sXmgn-en-s\-∏‰n  

hnh-c-ßƒ \¬-Im≥ Ign-bpw. 

 

 3. At±lw Ip´n-I-sf-°p-dn®v hni-Z-amb hnh-c-ßƒ tiJ-cn-°p-∂p. 

 

 4. At±lw Xs‚ Iu¨kn-enwKv {]h¿Ø-\-Øns‚ Imcy-£-a-X-sb- 

°p-dn®v ]Tn-°p-∂p. 

 

C.O : 48 
M.P :  1, 4 
 
Question Text   :  
 

In a school all students need : 
 
(a) Psychotherapy 
(b) Counselling  
(c) Guidance  
(d) Behaviour Modification  
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Scoring Indicator  : 
 
 Guidance  : 1    
          Score : 1 

Time  :  2 mts.  
 

 Hcp kvIqfnse F√m hnZym¿∞n-Iƒ°pw Bh-iy-am-bn-´p-≈-Xm-Wv.  

 

 (1) sskt°m-sX-dm∏n 

 (2) Iu¨kn-enwKv 

 (3) ssKU≥kv 

 (4) kz`mh cq]o-I-cWw  

 

C.O : 48 
M.P :  1, 3 
 
Question Text   :  
 

Hima, a XI standard student opted science combination with the 
compulsion of her parents.  She is almost to discontinue the course.  Among 
the following, who is the expert to seek help with.  

 
1. Physician 
2. Counsellor  
3. Psychiatrist  
4. Clinical Psychologist  
 

Scoring Indicator  : 
 
 Counsellor     
          Score : 1 

Time  :  2 mts.  
 

 +1 \v ]Tn-°p∂ lna c£n-Xm-°-fpsS \n¿_-‘-Øn\v hg-ßn-bm-Wv 

kb≥kv hnj-b-Øn\v tN¿∂-Xv.  F∂m¬ Ah-fn-t∏mƒ B tImgvkv Dt]-£n-

°p-∂-Xn-s\-°p-dn®v Btem-Nn-°p-I-bm-Wv.  Xmsg-∏-d-bp-∂-h-cn¬ B¿°m-Wv 

lnasb C°m-cy-Øn¬ IqSp-X¬ klm-bn-°p-hm≥ Ign-bpI?  

 

C.O : 38 
M.P :  1, 2, 7 
 
Question Text   :  
 

The clients emotional stability, educational status, intensity and 
duration of the problem etc. are the factors that demand the particular 
approach of counselling".  Evaluate the statement and substantiate your 
answer.  
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Scoring Indicator  : 
 
 Evaluating the statement in the context 
 of approaches to counselling   : 3 
 Substantiating the answer    : 2  
   
          Score : 5 

Time  :  10 mts.  
 

 ¢b‚ns‚ sshIm-cnI ÿnc-X, ]T-\-\n-e-hm-cw, {]iv\Øns‚ Xo{h-X, 

Ime-ssZ¿Lyw F∂nh Hcp {]tXyI coXn-bn-ep≈ Iu¨k-enwKv At{]m-®nwKv 

\n¿_-‘n-X-am-°p-∂p.  Cu {]kvXm-h-\sb hne-bn-cp-Øp-I-bpw, ka¿∞n-°p-

Ibpw sNøp-I.  

 

C.O : 33 
M.P :  2, 3, 6 
 
Question Text   :  
 

Pramod is having difficulties in his studies.  He approached the teacher 
for guidance and she gave some suggestions about study habits.  That 
doesn't help him.  So his teacher suggested a counsellor to seek help.  He 
helped Pramod to solve his problem.  In this case both the persons helped 
him.  What were the professional help Pramod underwent?  Identify and 
differentiate between the two:  

 
Scoring Indicator  : 
 
 Identifying Guidance and Counselling  : 2 
 Comparing Guidance and Counselling  : 3 
  
          Score : 5 

Time  :  10 mts.  
 

 {]tam-Zn\v ]T-\-Im--cy-ß-fn¬ Nne _p≤n-ap-´p-I-fp-- v.  CXn\p ]cn-lmcw 

tXSn Ah≥ So®sd ImWp-Ibpw, So®¿ Nne ]cn-lm-c-ßƒ \n¿t±-in-°p-Ibpw 

sNbvXp.  CXp ^e-h-Øm-Im-™-Xn-\m¬ So®¿ Ahs\ Hcp Iu¨kn-edpsS 

ASp-tØbv°v ]d-™-b-®p.  At±lw Ahs‚ {]iv\w ]cn-l--cn®p.  c- p-t]¿ 

{]iv\-]-cn-lm-c-Øn\p {]tam-Zns\ klm-bn-®p.  ChnsS Ch¿ \¬Inb {]^-

jW¬ klm-b-ßƒ F¥m-sW∂p Xncn-®-dn™p hni-Zo-I-cn-°pI?  
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UNIT – 10 
 
C.O : 46 
M.P :  4, 6 
Question Text   :  
 

You must have read reports on death due to lack of sufficient food and 
shelter among socially disadvantaged group. (eg:- adivasies).  Is there any 
Psychological factors that contribute to this social problem.  Explain your 
answer by using Pareek's Psychological analysis of poverty.  

 
Scoring Indicator  : 
 
 Poverty and socialization   : 1 
 Explanation by using three  
 motivational factors    : 3 
 Justifying the answer   : 1   
          Score : 5 

Time  :  10 mts.  
 

 Blmcw, hkv{Xw, ]m¿∏nS kuIcyw F∂n-h--bn-√msX acn-®p-t]mb 

]nt∂m° kap-Zm-b-ß-fnse Bfp-I-sf-∏‰n (B-Zn-hm-kn) \nßƒ ]{X-ß-fn¬ 

hmbn®p ImWp-a-t√m.  Cu kmaq-lnI {]iv\-Øn\v a\:imkv{X-]-c-amb Imc-W-

ßƒ D≈-Xmbn \nß-ƒ Icp-Xp-∂pt- m?  \nß-fpsS A`n-{]m-b-ßƒ ]co-°ns‚ 

Zmcn-{Zy-sØ-°p-dn-®p≈ a\:im-kv{X-hn-i-I-e-\-Øns‚ ASn-ÿm-\-Øn¬ hni-Z-am-

°pI? 

 

C.O : 46 
M.P :  2, 4, 7 
 
Question Text   :  
 

Criminals are mostly coming from homes situated in the slums of major 
cities.  Explain the way the socio-economic conditions contribute to the 
development of criminality.  

 
Scoring Indicator  : 
 
Identifying socio economic factors : 
  

Poverty    : 1 
 Unemployment    : 1 
 Population      : 1  
 
Explain the socio economic factors  : 3 
          Score : 6 

Time  :  15 mts.  
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 \K-c-ß-tfmSv tN¿∂p≈ tNcn-I-fn¬ \n∂mWv km[m-c-W-bmbn Ip‰-hm-fn--

fn-e-[n-Ihpw hcp-∂-Xv.  CXn\v kmº-Øn-Ihpw kmaq-ln-I-hp-amb LS-I-ßƒ 

{]tNm-Z-\-am-Im-dpt- m?  hi-Z-am-°pI?  

 

 

C.O : 45 
M.P :  1, 5, 6 
 
Question Text   :  
 

According to the reports, In India approximately 65,000 crores is used 
annually for defence and other national security purposes.  This huge amount 
is spent to meet a particular social problem.  Identify the social problem and 
Explain?  

 
Scoring Indicator  : 
 

Identification of challenges to National  
Integration as a social Problem  : 1 

 Explanation       : 2 
          Score : 3 

Time  :  5 mts.  
 

 IW-°p-I-fpsS ASn-ÿm-\-Øn¬ C¥y Hcp h¿jw GI-tZiw 65,000 

tImSn cq]-bmWv tZiob kpc-£-bv°mbn D]-tbm-Kn-°p-∂-Xv.  CXv {][m-\-

ambpw Hcp {]tXyI kmaq-lnI {]iv\sØ adn-I-S-°m-\mWv sNe-h-gn-°p-∂-Xv.  

B {]iv\w GsX∂v I- p-]n-Sn®v hni-Z-am-°pI?  

 

UNIT – 11 
 
C.O : 39 
M.P :  2, 3, 5 
 
Question Text   :  
 

A Psychologist counsel a client through telephone.  Another person is 
given face-to-face counselling.  Which counselling, process is more effective?  
Justify? 

 
Scoring Indicator  : 
 
 Role of communication in counselling situation   : 1 
 Effective speaking and listening     : 1 
 Justifying answer        : 1  
          Score : 3 

Time  :  5 mts.  
 



 38 

 Hcp a\:imkv{X-⁄≥ Hcm-fn\v sSe-t^m-Wn-eq-sSbpw, as‰m-cm-fn\v 

t\cn´pw Iu¨kn-enwKv \¬In.  \nß-fpsS A`n-{]m-b-Øn¬ GXv coXn-bmWv 

IqSp-X¬ ^e-{]-Zw.  \ymbo-I-cn-°pI?  

 

C.O : 48 
M.P :  2, 6 
 
Question Text   :  
 

Read the following features related to a computer:  
 
1. Computer can collect data on various Psychological problems. 
2. It can store Psychological data. 
3. It can analyse data. 
4. It can suggest solutions to the Psychological problems. 
5. It can maintain secrecy through Passwords 
6. Psychological tests can be administered through computer. 

 
 Mr. Sanal is an expert computer technician who can perform the above 
tasks in a computer.  Now do you think that Sanal can become an effective 
Psychologist.  Substantiate your answer.   

 
Scoring Indicator  : 
 
 Explaining skills needed for an effective Psychologist   : 4 
 Substantiating the answer        : 2 
          Score : 6 

Time  :  15 mts.  
 

 Iºyq- -́dp-ambn _‘-s∏´p Xmsg∏d-bp∂ hmIy-ßƒ hmbn-°pI: 

 

 1. a\:imkv{X-]-c-amb {]iv\-ß-sf-∏‰n Iºyq- -́dn\v hnh-c-ßƒ tiJ- 

cn-°p-hm≥ Ign-bpw. 

 2. Iºyq- -́dn\v hnh-c-ßƒ \ne-\n¿Øp-hm≥ Ign-bpw. 

 3. Iºyq- -́dn\v hnh-c-ßƒ hni-I-e\w sNøm≥ Ign-bpw. 

 4. am\-knI {]iv\-ßƒ°v ]cn-lmcw \n¿t±-in-°m≥ Ign-bpw. 

 5. CXn\v ]mkvthUv D]-tbm-Kn®v cl-ky-ßƒ kq£n-°m≥  

Ign-bpw. 

 6. a\:imkv{X sSÃp-Iƒ Iºyq- -́dp-Iƒ D]-tbm-Kn®v \S-Øm≥  

Ign-bpw. 

  

 k\¬ Hcp Iºyq-´¿ hnZ-Kv≤-\m-Wv.  At±-l-Øn\v ta¬∏-d™ Imcy-

ßƒ Iºyq- -́dn¬ sNøp-hm≥ Ign-bpw.  Aß-s\-bm-sW-¶n¬ k\-en\v Hcp hnZ-

Kv≤-\mb a\:imkv{X-⁄-\m-Im≥ Ign-bptam?  ka¿∞n-°pI?  
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C.O : 55 
M.P :  3 
 
Question Text   :  
 
 Analyse the following statements: 
 

1. The scores in Psychology for the first terminal examination of 
the class is distributed between 25 – 49. 

2. The scores in Psychology for the second terminal examination 
of the class is distributed between 35 – 45 

 
Identify which terminal examination scores are more scattered?  

Name the measure of variability used.  
 

Scoring Indicator  : 
 
 Identifying the first terminal exam  
 score as more scattered     : 1 
 Naming the measure of variability as range  : 1   
         Score : 2 

Time  :  4 mts.  
 

 Xmsg-sIm-Sp-Øn-cn-°p∂ {]kvXm-h-\-Iƒ hne-bn-cp-ØpI. 

 

1. H∂mw ]mZ ]co£bn¬ sskt°m-fPn hnj-b-Øn\p Iq´n-Iƒ°p 

e`n® kvtIm¿ 25 \pw 45 \pw CS-bn¬ hnX-cWw sNbvXn-cn-°p-

∂p. 

2. c- mw ]mZ ]co-£-bn¬ sskt°m-fPn hnj-b-Øn\v In´nb 

kvtIm¿ 35 \pw 45 \pw CS-bn¬ hnX-cWw sNbvXn-cn-°p-∂p. 

 

 CXn¬ GXv ]co-£-bpsS kvtIm¿ BWv IqSp-X¬ NnX-dn-°n-S-°p-∂Xv?  

D]-tbm-Kn-®n-cn-°p∂ thcn-b-_n-en‰n GXmWv?  
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C.O : 53 
M.P :  4, 7 
 
Question Text   :  
 

Analyse the following graph :  
 

 
                                     Boys Girls 
       Sex 
Identify the scale of measurement used in graphical representation of data.  
 a) Nominal 
 b) Ordinal 
 c) Interval 
 d) Ratio  
 
Scoring Indicator  : 
 
 Nominal     
          Score : 1 

Time  :  2 mts.  
 

 apI-fn¬ sImSp-Øn-cn-°p∂ {Km^v hne-bn-cp-Øp-I. {Km^n¬ hne-bn-cp-Ø-

en\v D]-tbm-Kn-®n-cn-°p∂ kvsIbn¬ (am-\-Iw) GXm-sW∂v Is- -ØpI?  

C.O : 54 
M.P :  4, 7 
 
Question Text   :  
 

Analyse the following statements: 
 

 1. The middle value in a hierarchically arranged data. 
 2. The average value of a data 
 3. The most frequent data 
  
 Identify the measures of central tendency used in each statement.  
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Scoring Indicator  : 
 
 Median  : 1  
 Mean  : 1 
 Mode   : 1        
         Score : 3 

Time  :  5 mts.  
 

 Xmsg-∏-d-bp∂ {]kvXm-h-\-Iƒ hne-bn-cp-Øp-I. 

 

 1. Btcm-lW {Ia-Øn¬ {Iao-I-cn-®n-cn-°p∂ Um‰-bpsS a[y-Ønse  

kwJy. 

 2. Hcp Um‰-bnse icm-icn aqeyw 

 3. Hcp Um‰-bnse G‰hw IqSq-X¬ Bh¿Øn-°p∂ kwJy 

 

 Hmtcm {]kvXm-h-\-bnepw D]-tbm-Kn-®n-cn-°p∂ sk≥{S¬ sS≥U≥kn 

Is- Øp-I.  

 

C.O : 51 
M.P :  3, 7 
 
Question Text   :  
 

Analyse the following : 
 

 a) Frequency distribution curve  
 b) Histogram 
 c) Bar diagram 
 d) Frequency distribution Polygon  
 
 Identify the odd one.  

 
Scoring Indicator  : 
 
 Bar diagram          
         Score : 1 

Time  :  2 mts.  
 

 Xmsg-∏-d-bp∂h hne-bn-cp-Øp-I. 

 

 1) {^oIz≥kn Unkv{Sn-_yq-j≥ I¿hv 

 2) lntÃm{Kw 

 3. _m¿ Ub{Kw 

 4. {^oIz≥kn Unkv{Sn-_yq-j≥ t]mfn-K¨ 

 

 Iq -́Øn¬ s]Sm-ØXv GsX∂v I- p-]n-Sn-°pI?  
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C.O : 1, 53 
M.P :  3, 7, 6 
 
Question Text   :  
 
There is no individual having 'Zero Intelligence' similarly there is no person 
with 100 percent of intelligence.  The difference is only in degree.  Majority are 
having average intelligence.  Evaluate the above statement with the help of 
graphical representation. 
 
Scoring Indicator  : 
 
 Evaluating the statement   : 2 
 Plotting Normal distribution Curve : 2 
 Consolidating the answer   : 1     
         Score : 5 

Time  :  5 mts.  
 

 ]qPyw _p≤n-i‡n Hcp hy‡n°pw C√.  AXp-t]mse Xs∂ \qdp iX-

am\w _p≤n-i-‡n-bp≈ Bcpw Xs∂ C√.  an°-hmdpw G√m-h¿°pw icm-icn 

_p≤n-i-‡n-bm-Wp-≈-Xv.  apI-fn¬ sImSp-Øn-´p≈ {]kvXmh\ Zri hne-bn-

cpØn {Km^ns‚ klm-b-Øm¬ hni-Z-am-°pI? 

 

C.O : 54 
M.P :  2, 4 
 
Question Text   :  
 

Analyse the following data :  2, 5, 4, 3, 4, 6  
 

 a) Calculate mean, medium and mode of the data. 
 b) Identify the type of distribution  
 
  i) Bimodal 
  ii) Unimodal 
  iii) Nomode  
  iv) Mutimodal  
 
 c) The relation between mean, median and mode are :  
 
  i) Mean, Median and Mode are different 
  ii) Mean, Median and Mode are same. 
  iii) Different values for each measures of central tendency  
  

 
Scoring Indicator  : 
 
 a) Correct calculation of   
  mean = 4 : 1 
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  medium =   4 : 1 
  mode   = 4 : 1  
 
 b) Identification of distribution  
  as Unimodal  -  1  
 
 c) Identifying the relation as  
  mean, medium and mode are same  - 1  
           
         Score : 5 

Time  :  10 mts.  
 

 Xmsg sImSp-Øn-cn-°p∂ Um‰ hni-I-e\w sNøp-I. 

 2, 5, 4, 3, 4. 6 
 

 1) Cu Um‰-bpsS ao≥, aoUn-b≥, tamUv F∂nh IW-°m-°pI? 

 2) GXv Xcw Unkv{S-_yq-j-\mWv F∂v Is- -ØpI? 

 

  (1) ss_tam-U¬  

  (2) bq\n-tam-U¬ 

  (3) t\m tamUv 

  (4) aƒ´n tamU¬  

 

 3) ao≥, tamUv, aoUn-b≥ F∂nh XΩn-ep≈ _‘w 

 

  (1) ao≥, tamUv, aoUn-b≥ F∂nh hyXy-kvX-am-bn-cn-°pw. 

  (2) ao≥, tamUv, aoUn-b≥ F∂nh Hcp t]mse Bbn-cn-°pw. 

  (3) sk≥{S¬ sS≥U≥kn-Iƒ hyXy-kvX-am-bn-cn-°pw. 
 
 
 


